Arigo #1: Arigo #2

iISEIS!

You and your partner are going to race to complete this paper! (Each partner should have a different color
pencil to keep track of who answers which questions). Play Rock, Paper, Scissors to decide who will start.
Whoever wins is going to start answering as many questions below as they can. The other person rolls a die
(FAST!) until they roll a 6 and yells “{Seis!”. When this happens, switch papers and now the second person is
answering questions while the first student is rolling the die. Continue until the other person rolls a 6. Do this
until the worksheet is complete. After checking answers, the person that has completed the MOST CORRECTLY
wins!

Instructions: write the answer IN SPANISH.

1. 545= 26. 74-41=
2. 10-2= 27. 12X3=
3. 447= 28. 8X8=
4. 3+10= 29. 742=
5. 204+4= 30. 9X2=
6. 1+18= 31. 20+20=
/. 15-5= 32. 30X1=
8. 33-3= 33. 14-1=
9. 21+4= 34, 1x60=
10. 4X4= 35. 50-23=
11. 25+25= 36. 83-3=
12. 48-4= 37. 17X2=
13. 19-11= 38. 12+15=
14. 3X4= 39. 11X7=
15. 5+5+5+545= 40. 44X2=
16. 100-1= 41. 71-7=
17. 40+37= 42. 59+1=
18. 64-12= 43, 3+1=
19. 25X3= 44. 1+1=
20. 77-21= 45. 10-0=
21. 347= 46. 4549 =
22. 80-75= 47. 100-0=
23. 33+33= 48. 93-18=
24. 45+15= 49. 20x3=
25. 98-2= 50. 9X0=




ANSWER KEY

. 5+5=diez
. 10-2=o0cho
. 4+7=once
. 3+10=trece

. 1+18=diecinueve
. 15-5=diez
. 33-3=treinta
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5. 20+4= veinticuatro
6
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8
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21+4= veinticinco

4X4= dieciséis

25+25= cincuenta
48-4= cuarenta y cuatro
19-11= ocho

3X4=doce

5+5+5+5+5= veinticinco
100-1= noventa y nueve
40+37=setenta y siete
64-12= cincuenta y dos
25X3=setenta y cinco
/7-21= cincuenta y seis
3+/=once

80-75= cinco
33+33=sesenta y seis
45+15= sesenta

98-2= noventa y seis
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/4-41=treinta y tres
12X3=treinta y seis
8X8= cincuenta y seis
/+2= nueve

9X2= dieciocho
20+20= cuarenta
30X1= treinta

14-1= quince

1x60= sesenta

50-23= veintisiete
83-3= ochenta
17X2=treinta y cuatro
12+15= veintisiete
11X7=setenta y siete
44X2= ochenta y ocho
/1-7=sesenta y cuatro
59+1= sesenta
3+1=cuatro

1+1=dos

10-0=diez

45+9 = cincuenta y cuatro
100-0= cien
93-18=setenta y cinco
20x3= sesenta

9X0= cero



